Limit Laws Suppose that ¢ is a constant and the limits

lim f(x) and lim g(x)

X—da X—a

exist. Then

1. lim [£(x) + g(x)] = lim f(x) + lim g(x)

2. lim [f(x) — g(x)] = lim f(x) — lim g(x)

3. lim [c¢f(x)] = ¢ lim f(x)

4. 1im [£(x)g(0)] = lim f(x) - lim g(x)
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@ Theorem If f(x) = g(x) when x is near a (except possibly at @) and the limits
of f and g both exist as x approaches a, then

lim f(x) =< lim g(x)

X—>d X—da

@ The Squeeze Theorem If f(x) = g(x) = h(x) when x is near a (except
possibly at a) and
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1 I f(x) < g(x) < h(x) whe [
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2 If f(x) = g(x) = h(x) whe

lim flx) = lim h(x) =L A=0 L >p
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